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1. Consider the periodic voltage waveform v(t) shown in figurel with a frequency of 60Hz and a
peak value V,, of 155V. Determine

(1) The dc value Vg of the voltage v(t) ? (write down the prove process not just the answer) (5 73)

(2) The rms value V., of the voltage w(t) 7 (write down the prove process not just the answer)(5 47}

(3) If this voltage appears across a 50(2 resistance, determine the average power 7 (5 73)

w(t)

1 vysinot

vs()=750c0s(5000¢+30°) V

figure 1 figure 2

2. (1)Calculate the current i(f) in the figure 2 ? (5 43)

(2)Calculate the powers, §‘, P, O, and PF inthe figure 2 ? (15 53)
3. The circuit was shown in figure 3, find ¥ ? (15 43)
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figure 3

4. The coupled circuit was shown in figure 4, find 7 =?(15 4})
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5.In a balanced three phase system as showen in figure 5, with I—/: =11020°V, Z_A =11£30°Q, f = 60Hz,

line impedance R =1Q,and L = ﬁH find ¥,,1,,and I, ? (1543)
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6. The circuit was shown in figure 6,
(1) find the s-domain expression of v,, (5 471)
(2) use the s-domain expression derived in (1) to predict the initial and final values of v, (5 57)

(3) find the time-domain expression of v,. (10 43)
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